Potencias de 10 (C)

4 +1000

551000

231000

56 =1000

70 <1000

95 + 1000

911000

51-+1000

971000

48 = 1000

Calcule los siguientes cocientes.

821000

19 +1000

611000

171000

16 +1000

1001000

911000

60+ 1000

73 <1000

84+ 1000
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Potencias de 10 (C) Respuestas

4 1000
0.004
551000
0.055
231000
0.023
561000
0.056
70 <1000
0.07
95 = 1000
0.095
91 =-1000
0.091
511000
0.051
971000
0.097
48 + 1000
0.048

Calcule los siguientes cocientes.

821000
0.082
19 +1000
0.019
61-+1000
0.061
171000
0.017
16 = 1000
0.016
1001000
0.1
911000
0.091
60 = 1000
0.06
73 +1000
0.073
84 +1000
0.084
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